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QUESTION 1

In a Security Token Service deployment for Identity Propagation with the Access Manager token, which component
must be registered with Oracle Access Manager 11g to create a communication channel? 

A. WS-Trust Validation Template 

B. WebGate 

C. Oracle Adaptive Access Manager 

D. Oracle Identity Federation 

E. Request Security Token (RST) 

Correct Answer: B 

 

QUESTION 2

What is the role of a user data store in Oracle Identity Federation (OIF) 11g when it is configured as an Identity Provider
(IdP)? (Choose the best answer.) 

A. Oracle Identity Federation uses the repository to map the information in received assertions to user identities at the
destination. 

B. When creating a new federation, Oracle Identity Federation uses the repository to identify a user and link the new
federation tothat user\\'s account. 

C. Oracle Identity Federation uses the repository to authorize users for access to protected resources. 

D. Oracle Identity Federation uses therepository to verify user identities and to build protocol assertions. 

Correct Answer: B 

 

QUESTION 3

Which three types of attributes does Oracle Entitlements Server support? 

A. resource attributes 

B. dynamic attributes 

C. context attributes 

D. information attributes 

E. request attributes 

Correct Answer: ABC 
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QUESTION 4

Which two earlier technologies does Oracle Access Manager 11g replace and provide a converged platform for?
(Choose two.) 

A. Oracle Access Manager 10g 

B. Oracle Identity Manager 10g 

C. Oracle Application Server SSO (OSSO) 10g 

D. Oracle WebCenter 10g 

E. Oracle Enterprise Single Sing-On 

Correct Answer: AC 

 

QUESTION 5

Identity two authentication engines that are available in Oracle Identity Federation (OIF) 11g. 

A. LDAP 

B. Flat File 

C. MongoDB 

D. JAAS 

E. Excel File 

Correct Answer: AD 
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